Splashlearn

Summer Addition

Solve the following word problems.

In the summer camp, there were 450 boys and 350
girls. How many children were there in total?

John sold 321 ice creams on Monday and 434 ice
creams on Tuesday. How many ice creams did he
sell in total?

A water park has two pools. One pool has 371 liters
of water and the other has 582 liters. How much
water is there in total?

In a summer fair, 288 people visited in the morning
and 419 people visited in the afternoon. How many
people visited the fair that day?

During a summer festival, 480 balloons and 194
kites were sold. How many items were sold in
total?

In a beach volleyball tournament, there were 234
spectators in the morning and 585 spectators in
the afternoon. How many spectators were there in
total?

A summer school has 512 students in the morning
session and 329 students in the afternoon session.
How many students are there in total?

On a summer picnic, there were 265 sandwiches
and 650 bottles of juice. How many items were
there in total?
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